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Note :- Q. No. 1 Part A is compulsory. Select one question

from each Part B, C, D and E.
Part-A
(Compulsory Question)

I. (A) Objective Type Questions.

(1)  Which of the following is not the state of

a process ?
(@) New
. (b) Old
(c) Waiting
(d) Running .
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(v)  Which one of the following 1§ the address
generated by CPU ?
» (2) Physical address
(b) Absolute address
.(¢) Logical address
None of the above

is the concept in which a
process is copied into main memory from
the secondary memory according to the
requirement.

Paging
Demand paging

Segmentation

(d) Swapping

(vii) To create a file :

i hle gye
(a) Allocate the space !
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Status register
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(¢) Instruction register
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(d Program status word
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The number of processes completed per

umit time is known as
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(c) [Efficiency
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(X)  Which module gives contiol of the CPU

to the process selected by the short-term

scheduler ?
(a) Dispatcher

(b) Interrupt
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(¢) Scheduler
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(d) None of these 1x10=10
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(B) Short Answer Type Questions :

(1) Explain the concept of simple monilor.
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(11) Recovery from deadlock.
(iii) Round robin algorithm.

(iv) Difference between physicalfand logical

H

address.

Discuss file naming and its #ttributes. 4x5=20
Part-B
(Unit-I)

2 : : I 't _

What is an operating system ? Discuss n detail how,
Jacctfied 1 TN

the operating system can be classfi€d nto differen,

categories.
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Part-C
(Unit=11)

What is he function process control block ?

D) W hat 1S CONVOY effect 7 Write the main scenario

of 1t

Explain about deadlock avoidance and write Banker

Algorithim,,

Part-D

(Unit-111)
Discuss thefeoncept of paging by giving suitable
example

Write short potes on the following :
(a) Virtua] Memory

(b) Demanq paging
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